EARAROBREBRT —5 XN—ZXBISH—F 20224638158 (X)) 13EI#EH2H

M S%3% A 132HLE20775kK%E B
[AXE%&]) 1 &:1,300,000  ~ 23&:455,000 33#%&:260,000H . 43#&:19,000 5 & :130,000 9
B RS RS R 1 BF (F8) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
= B3| REFE 1:30.1 6-5-4-2 |38.5| - 1 521 | EEWE GHTD)
115|577V 5.0 - e | @) SKT
RNV vH—)b B:FU—F o — HRat DERS
= P — s 3 | BRE 1:31.3 1-1-1-1 [ 40.1| — 2 444 | IERR GERD)
207|7 | ERI4—/ 54.0 ® (g |limse
Rivhivo #8:RF/IT+)VE-Y (e
¥ W R 43 | B 1:32.0 5-6-5-3 | 40.4| - 5 441 | RS (1)
318(10 JREIIL YR 56.0 ?3) (-6) ()] l:‘“yO‘L_/I‘y R77—L
RPUSANIVE #vuO—eX vy RT7—L4
— g~ = =0~ BT : -10-10- - KEFESE (Rfl)
47l s SYHYRSAFEY 4 3 54.0/ (12312/25) 10-10-10-10] 39.0 9 (4_6(3 ;?'PEEE%
R:AN/VwF— B:IS5VT)Ib— HHE #X

NS, =y B3 | BEA 1:32.6 7-7-7-7 | 40.1| - 6 | 480 |LIBTE (&)
EHE, FoEYavINASF 56.0 /2 @3 | VA @)

RZANOVIUI—Y B:7A RILNAF HPES
611111157475 it 3 ;-':Z%iﬁl (17:392% 9-9-9-9 [39.9| - 8 (4_33(; %gég (GraAD)
RiAXAYIAYR—5— B:aUraU v PN ELe
. Y2 : -3-3- - FIES
718l o | NTYVHT Y I #3 | ERER Gy | T S =
RiIvVIIWRTry b B:AFAA4VN—k N L3805
8 ) | T=IWRFVIT L R et 1:(312).9 8-8-8-8 |40.4| — | 3 :(1)(2)) g;g{%ﬂg (70)
RiXAY3oR—5— &:hOVKR—Y ISt
=7y H—w 3 | RESH 1:32.9 2-2-2-4 |41.55| — | 10 | 454 |KBHEL (HID
RISV TURR B:RANAY—FT o HET7—L
°~ 3~ ) 3 | @EEX 1:33.1 4-4-6-6 | 4.4 — 7 470 | SHIEX (B
108 3 | BTV VT " 56.0 a1/ (-g) | EEIRAIER
RibwYO—LR B:09UFUVER Bh &%
@ 11— —BERIEI
13—7F— 7,4,9,3,10,5,6,2,1,8
20— — 7,4,9,3,5,10,6,2,1,8
Ia=7r= 7,4,9,5,10,3,6,2,1,8
40—7F— 7,5,10,4,9,3,6,2,1,8
o ILRE
BB 5 1208| | 94K 5-7 140H AR 5-7 240 3ER 5-7-10 690
B B 5 1004 5-10 3204 B 5-7 3804 3Es 5-7-10 2,040
7 1309 7-10 560 5 & 5-7 290M
10 2004 Ba 5-7 370

ABIC OV TRUTEREERRODDZE. THRIIZEL.



